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Answer either in English or in Assamese.

1. State the correct alternative from the

following : 1x8=8
oS fual e Al o Rt AR Seved s
(i) The development of computers can be
divided into - generations.
IfICoIT T Bl gErre il
R AR
(@) 3 (b) 4
© : 8
(¢ S (d) 6
(4 )
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(i) ENIAC is an example of
computer

ENIAC T# &% ___. DR Bl
(a) first generation |
(b) thlrd generation
| o
(c) seventh generation
S o
. (d) fourth generation -

(i) ,The permarnient memory of a computer
"~ ' is also known as

&l T

(@) Primary memory
oiRER AR
- (b) Cache memory
- R
(c) Sccondai'y memory
T 'R
(d) Registers

RrbRr
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. (iv) - Which of the following translates high
level language into machine language ?

TWW%WWW
O AW B2

(a) Compiler
TR
(b) Loader
TOR
(c) Linker
. (d) Scheduler
fogeti
i (v) A program in execution is called a

IR 02 24T SRS S i R 3BT oI
AR

(@) Compiler
TN
(b) Process
(423

N

(c) ~ Software
TROSRE

(d) Virtual memory
SRR (R
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(vi) With which memory can a computer
system run programs that are actually
larger than its primary memory? -

iRl FPIToR
R G
TS GERT I <ot AT FRY A2 .
(a) Cache merhory :
g R
(b) Primary memory
sz 'R
(¢ Virtual memory
wigE o'
(d) None of the above
. . @A Bl T
" (vii) ‘To save a document for the first time
: which of the following options is used ?
Bt THCAD ALK I T PRI 1S
Al (PO (R oA TR AR
(a) Save as. ‘ '
(b) Save
e8] .
() Cut-Paste
o WMo
" (d) None of the above
SNAT B1e T
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(viii) A cell range is represented by which of
the following ?

ﬁﬁm@@?"ﬂ—ﬁmmﬂmﬁwaw
WWQ‘I"’

(@) (A6.A8)
(b) (A6-AS8)
(c) (a6, AB)
(d) (A6:A8) .

2. Answer the following: 2x6=12

(i) What are the different types of memory
available in a computer system ?

FfoolEor abrs @ Rivw ooz B fee
(i) What i§ computer program?.
AT e e -
(iii) What is a modem ? -
e e |

(iv) Write the full form of HTTP and URL.
'~ HTTP 9% URL Wit 2
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(v) List all the layers of OSI model.
OSI PR WBIEH ST= A Bl |

(vi) State two main categones of computer
printer.

Wfﬁm 7o &4 SR N |

" 3. Answer the following questions : (any four)
5x4=20

WWWWMz(ﬁmwﬁﬁ)

(i) What -are c'ompiier and 'interpreter?,
Differentiate between them.

WWW@?%?@@WW
mWMu -

(ii) What are the different functions of an
operating system ?

wﬂﬁﬁ'ﬁ&ﬂmﬁﬁmﬂw
o o o

(iii) Describe the tree network topology..

& (63 B eIENE! I 1|
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(iv) State any two mathematical or
statistical functions available in
. MS Excel with suitable example.

MS Excel © 3 Reaw 7o aifdfss
SRR TR ﬁm @fﬁ@ @mww
wRwe forat

. (v) State the key(s) that should be préssed
~ to perform the following functions in
MS Word.

were frl MS Word ¥ T TR T
RIS AR PRI SRR & 2
(a) Cut g ‘
-t
(b) Copy
39
{c) Paste
A
(d) Find
FIEH
(e) Select All
- ez ==
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(vz) leferentlate between Wmdows and
Linux Operatmg System.

‘Wi'ndows ‘51133 Linux W”ﬁ@ﬁ‘( PR

NP

4. Answer any four from the , following
‘ questlons _ 10x4=40

() What is Process Scheduling ? What are
 the different types of Process
Schedﬁling,? Write  about  two
scheduling algorithm.  2+3+5=10

ooy foufor 52 oy Hufr- Rty soremz
& e 7oy ol 9=e' e Rac Bt

" (i) What is TCP/IP ? Write about different
layers of TCP/IP. 2+8=10

TCP/IP &2 TCP/IP 7 Rfen et
R ot
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(iii) Write abdi;t the different functions
~ available under the following screen

element of MS Word:  2+3+3+2=10

'\'T-*T\_'Jﬁﬂf MS Word ﬁmﬁ?ﬁ ﬂﬁ?ﬂ‘f
TR Rfen e Racw for e

(a'), Office button .

o (b) Home
(c) Insert |
(d) Page layout

pvl@cawﬁs%
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(i) Describe the utility of MS Excel,
MS Powerpoint and MS Access.
4+3+3=10

MS Excel, MS Powerpbint N0
" MS Access I SoibioR R B

(v) Describe . hdw IT enabled de'viées
(including mobile phones) are helping
us in purchasing goods online,
availing banking and several other
‘online services (such as transport,
tourism etc.) and availing social

networking benefits. ' 3+4+3=10

TR TS <R o, B s iz
Setie AW T, @R N Sy S
@I AR Wi TS I
(I W IR0 3971 741 |
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(vi) What are LAN and WAN ? Write about
the  different  types of data

transmission medium. - 4+6=10

LAN 9IF WAN ﬁwm%t@asﬁwaﬁﬁ'
mwmﬁmﬁmn
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